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Note : Answer questions from each Section as

directed.

Section—A

Note : Answer any two questions from this Section.

2x20=40

1. What is difference equation ? Describe Cobweb

Model using difference equation. 20

P.T.O.
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What is differential equation ? Describe the
Harrod-Domar analysis of steady growth using

differential equation. 20

(@) What do you mean by ‘Linear

Programming’ ? State its assumptions. 5

(b) Using Simplex method, maximize : 15
Z=x+y
Subject to :
X+ y<5H
x+3y<12
x>0, y>0

(a) Distinguish between probability mass
function and probability density

function. 10

(b) In a bulb factory, Machine A produces 25%
of the total output, Machine B 35% and
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Machine C 40%. Of their output, 5%, 4%
and 2% respectively are defective. If 1 bulb
1s selected at random, what 1s the
probability that it was produced by
Machine C ? 10

Section—B

Note : Answer any five questions from this Section.

5.

5x12=60

(a) What i1s a homogeneous function ?

Illustrate three properties of a

homogeneous function.

(b) From the given production function : 8
Q =90 K05 L0~5,
derive an expression for MPr.. 4

If the marginal revenue function is :

MR =50 — 10 ¢2,

where q is the level of output and total revenue
1s ¥ 100 at 3 units of output, find the total

revenue function. 12

P.T.O.
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Find the extreme value(s) of :
Z=—x2+xy+2x+y

and determine whether they are maximum or

minimum. 12

Explain and illustrate consumer surplus using

integral calculus. 12

Define trace of a matrix with an example.
Explain all four properties of the trace of a

matrix. 12

(a) Discuss various measures of dispersion.

(b) How will you infer about the shape of the

distribution by using skewness ? Illustrate.
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11. Discuss Karl Pearson’s correlation coefficient.

How 1s it different from rank correlation ? 12

12. Explain and illustrate ordinary least square

method of estimation. 12

P.T.O.



[6] MEC-103

MEC-103

gag : 3 HyU2 3k dd 37 : 100
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HT—<h

e : =W 9§ feml I uw & S S

2x20=40

1. 3T TR0 FT © 7 ST< THIEIO H1 ST
Hich hiddd HISA hl dU hifSU] 20

. 3w THH R © 7 ke THIHT &
W F fer dafg & Re-sm fagawo =
Ui HIfST) 20
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(1) Ma® FHHRIF/ESAT ¥ 39 = g9
g 7 TEH! EURUMT §arEu| 5

o

() THEhdI/A fafy &1 3TEm &, =

1 HfhaH HIST 15
Z=x+y
g
X+ y<h
x+3y<12
x>0, y>0

() WRRdl SAHH Ged 3R UiRieRdl S

el & Sd A HITS| 10

(9) Th oo Bl § TN A HA SR

95%, ¥ B 35% 3 HIH C 40% 3UR_A

FIA Bl ST SARA 1 FHAI: 5%, 4% 3N

2% el (W) T AR 1 TS H

P.T.O.
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Tefee ®9 ¥ wEA fRw Sm@r €, @
witehdr @ Bhf fh ¥® WM C 8|
Scqifed feam T & 2 10

HAT—9

e : 39 9 A ¥ fed e v @ W S
5x12=60

5. (37) THSIAR/EAM hed @ ® 7 HESE
Tl & T TN I IIEWT A W
ifSTTl 8

(9) fu T SARA He

Q =20 K05 10.5

¥ MPL (99 & GHN ScEHAT) *q

~

sleh ki Hcdfd hifal| 4

6. A HHF  AMW/HEHN ™ B

MR = 50 — 10 ¢2 8, S&l ¢ SR & & ¢ 3N



10.
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3 3RS SR W hel MH/HRA 34 T 100 &,

@ FHA AH e A HiTST 12

Z=—x2+xy+2x+y % TH UH Jd EAILY
AR fuifm sy foF o8 sfuseaw ® @

| 12
TR TG &1 YA Shich SUSl  STH9Y
F A HIST A IIEOT H Y W
hIfSTT| 12

TH I[EOT H Y ThH FAFE o TR R
e AT Tw ST ® TR & 9 9
foiyaisti =1 saren wifsu) 12

(1) yahiviF/emufReor & fafg= @i &1 ==t
CAIE LY 6
(9) 99 HT ITN Fh MY T a0 &

PR & SR § Hhd AN oman ?

3SR T T HIfST| 6

P.T.O.
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11. &el e & gy Une &1 =99 Hitag|

TIe arifearfa wewrry @ fore yr fa= € 2

12

12. 3hel ki WM =HAaq v fafy &1 saren

HIFT 3 3T i) 12
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